Tech Info Library

LisaCalc: Problems with rounding

In cell A2, enter the formula I NT(A1*100)/100; in cell Al, enter the val ue
1.17. You would expect the result in A2 to be 1.17; however, due to
difficulties in converting decinmal to binary and back, the result returned is
1.16. If the intent of the above expression is to round to two deci mal pl aces,
t hen use ROUND( AL, 2) or ROUND(INT(A1*100)/100,2). To conpare the two cells to
see if they are equal, use | F(A2-Al<. 0001, EQUAL, NOTEQUAL) .
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